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(iv) Give chemical equations and diagram
wherever necessary.
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1. In each part of this question, four alternatives are
given. Select the correct alternative and write it 1n
your answer-book.

(a)

(b)

(d)

H

347(X2)

The unit of velocity constant for first order
reaction is —

G molL-ts1 (i) s
(i) mol' LS (iv) mol'!L1S

The order of reactivity towards hydrogen by
the elements of group 15 is —

@ N>P>As>Sh>Bi
(i) P>As>N>Sb>Bi
Gii) Bi>Sb>As>P>N
(iv) Bi>As>Sb>N>P

Phenol is heated with Nitric acid to give —
(i) Chloretone (i) Picric Acid
(iii) Methoxy Benzene (iv) Benzene

Rosenmund reduction gives

(i) Aldehyde (i) Ether
(iii) Carboxylic acid  (iv) Hydrocarbon
Penicillin is —

(i) antibacterial

(iii} antiseptic

(i1) bactericidal
(iv) sweetener

The oxidation number of fluorine is —
i) +1 (i) -1
(iii) 2 (iv) +2
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The initial concentration of Nzos at 318 K
was 1.20 x 1072 mol L~ in first order reaction

1 .
N 05{3) -3 ZNOQ{g] 3 Oz(g) which became

0.60 x 102 mol L! after 60 minutes.
Calculate velocity constant at 318 K.

Explain  the adsorption  theory of
Heterogeneous catalysis,

Explain the mechanism of the formation of
alcohol by acid catalysed hydration.

Write chemical equation for the formation of
Aldehyde by Stephen’s reaction.
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(a) The velocity of a reaction 1is I{[A]l’sz [B]%.

Write the total order of reaction. 2

(b) Explain Electro dialysis by giving diagram. 2

(c) Write chemical equation of one example of
the formation of Ether by the dehydration of

alcohols. - 2

(d) What is Tollen’s reagent ? Write chemical

equation of one example of Tollen’s test. 2
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(@)

(b)

()

(d)

(%)

How number of particles are determined in 5
Primitive cubic unit cell. Explain with the
help of a diagram.

Write general electronic configuration of
transitional metals and explain shielding effect,

Define addition Polymerisation. Write
chemical equation for the formation of Teflon

and Polyacrylonitrile and also write one use
of each.

Write note on Soap.
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Write the names and formulae of one ore of each
of Aluminium and Copper. Write a method
alongwith chemical equations for obtaining pure
Alumina from an ore of Aluminium.

Write TUPAC name of [Co(NH,),CL]* and

with the help of its structural formulae, explain
what type of isomerism does it exhibit.
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(c)

(d)

6. (&)

(@)

6. (A)
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Write chemical equations for Halogenation,
Nitration, Sulphonation and Friedel Crafts
reaction of Chlorobenzene. 4

Write chemical equation for the reaction of
excess Chloroethane with Ethanamine and
Chloroethane with Benzylamine. 4
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2.5 g Ethanoic Acid was dissolved into 75 g
benzene. Calculate the concentration of
ethanoic acid in terms of (i) Parts per million
(it) Mole fraction (iii) Percentage by weight
(iv) Molality (75 g benzene = 85.6 mL) 5
OR
45 g Ethylene glycol (C,H,0,) was mixed
with 600 g water. Calculate depression in
freezing point and freezing point of the
solution. 5
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(B) How potential difference in the half cells are
determined ? Write its uses.
OR
What are accumulator batteries ? Explain its
working and write its uses.
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7. (A) Write method of formation of Phosphine from
white phosphorous and its chemical equation.
Also write chemical equations for any three
chemical properties of phosphine.
OR
Write chemical equations of two methods of
preparation and three chemical properties of
Chlorine. '

(B) Write five chemical equations in favour of

Fisher Structure of glucose.
OR
Write a note on Hormone.
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